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AEag | A sy [0 O = —
BAEE | AEHER | BEE | AEHEER | AEE @ BEHER
1 1F (FBfE) 18:00 |uSv/H 0.16 0.16 0.22 0.22 0.26 0.25
2|2F (FHEEE) 18:10 |uSv/H 0.28 0.27 0.29 0.28 0. 31 0.30
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BEMES | mEeE | B o e s
BIEE | AEHER | AEE | RAEHER | AEE | AIEER
1 1F (FEfE) 11:34 |uSv/hl 0.14 0.14 0.18 0.18 0.24 0.24
2(2F (FEEE) 11:44 [uSv/n| 0.24 0.24 0.28 0.27 0.29 0.28
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BEE | AEHER | BEE | AEHER | AxEE | BEHER
1 1F (FEfE) 16:45 [uSv/hl 0.16 0.16 0.19 0.19 0.23 0.23
2|2F (FHEEE) 16:50 |uSv/H 0.26 0.25 0.27 0. 26 0. 31 0.30
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BIEE | AEHER | AEE | RAEHER | AEE | AIEER
1 1F (FEfE) 16:35 |uSv/H 0.13 0.13 0.21 0. 21 0.21 0. 21
2(2F (FEEE) 16:43 [uSv/hl 0.23 0.23 0.25 0.25 0.28 0.27
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